
https://www.pass2lead.com/hpe0-s50.html
2024 Latest pass2lead HPE0-S50 PDF and VCE dumps Download

 

 

 

HPE0-S50Q&As

Integrating HPE Synergy Solutions

Pass HP HPE0-S50 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/hpe0-s50.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HPE0-S50 Practice Test | HPE0-S50 Study Guide | HPE0-S50 Braindumps                                1 / 4

https://www.pass2lead.com/hpe0-s50.html
https://www.pass2lead.com/hpe0-s50.html
https://www.pass2lead.com/hpe0-s50.html


https://www.pass2lead.com/hpe0-s50.html
2024 Latest pass2lead HPE0-S50 PDF and VCE dumps Download

QUESTION 1

A customer has the following configuration: 

15 Synergy Frames with 150 HPE SY 480 Gen9 compute modules 

15 HPE Synergy D3940 storage modules with 40 disks each 

10 Image Streamers 

10 HPE Synergy Virtual Connect SE 40Gb F8 modules 

20 20Gb Interconnect Link Modules 

During setup, how many enclosures should the Synergy integrator select for the Logical Interconnect Group ((LIG)? 

A. 5 enclosures 

B. 10 enclosures 

C. 15 enclosures 

D. 20 enclosures 

Correct Answer: A 

 

 

QUESTION 2

A customer has a multi-frame Synergy solution. The customer\\'s Support team recently missed some important alerts in
its Composer interface because each pair of Composers resides on a separate management network. What should the
customer do to minimize the risk of this reoccurring? 

A. Configure HPE Intelligent Management Center. 

B. Implement HPE Synergy Global Dashboard. 

C. Configure Remote Support. 

D. Implement HPE Systems Insight Manager. 

Correct Answer: B 

 

QUESTION 3

How can a Synergy integrator increase the efficiency with which a Synergy solution can be provisioned? (Choose two.) 

A. Use Powershell to automate configuration and application of server profiles. 

B. Use Image Streamer to provide a stateless OS environment. 
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C. Associate all Synergy frames with the same data center. 

D. Use a Multimodule Link Aggregation Group (MLAG) to automate link failover. 

E. Use Composer as a PXE server to automate OS deployments. 

Correct Answer: AB 

 

QUESTION 4

Refer to the exhibits. 

A customer has a Synergy 2-frame design, as shown above. 

Due to expanding business needs, the customer has ordered a third frame to expand the environment to a 3-frame
fabric design, as shown below. 
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While attempting to extend the Logical Interconnect Group (LIG) for the enclosure group, the Synergy integrator is
unable to add the third frame. What is preventing the integrator from adding the third frame? 

A. The Virtual Connect SE 40Gb F8 modules are installed in the incorrect location. 

B. The incorrect interconnect Link modules have been installed. 

C. The Frame Link Module firmware has not been updated in the new frame. 

D. The HPE OneView software on the Composer has not been updates to the latest version. 

Correct Answer: C 

 

QUESTION 5

A customer\\'s Synergy solution configuration needs redundant paths to the drives used in the HPE Synergy D3940
storage module. Which component must be redundant to meet the customer\\'s requirement? 

A. HPE Synergy 12Gb SAS Connection Module 

B. HPE Synergy D3940 storage module 

C. HPE Smart Storage Battery with 260mm Cable Kit 

D. HPE Compute Module Smart Array P542D SAS Cable 

Correct Answer: A 
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